
Wyra»enia algebraiczne � Klasa 1

1. Oblicz pot¦gi:

(a) 43

(b) 104

(c) 252

(d) (0.05)2

(e) (1.1)2

(f) 2−2

(g) 3−3

(h)
(
1
2

)−5
(i)

(
−4

3

)−3
(j) (−1)−6

(k) (111)0

(l) 9
5
2

(m) 25−
3
2

(n) (−81) 3
2

(o) (− 64
125

)−
2
3

2. Oblicz logarytmy:

(a) log2128

(b) log 1
2
32

(c) log 1
81
3

(d) log√24

(e) log2
√
216

(f) log5125
√
5

(g) log 1
9
3 3
√
3

(h) logππ

(i) log2128

3. Upro±¢ uªamki:

(a)
230x6y5z3

552x3y4z8

(b)
110a5b4c8d15

264a15b8c4d5
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(c)
25x2yn+2z2n+2

75x2n+2ynz2n

(d)
54a15b27c43

54a12b29c48

(e)
(−8)5·103·12
94·64·(−10)3

(f)
242·(−27)2
(−12)3·182

(g)
(−12)4·(−45)3·702
(−60)3·182·(−75)4

4. Usu« niewymierno±¢ z mianownika uªamka:

(a)
1√
2

(b)
9

2
√
3−3

(c)
1√

3−
√
2

(d)
3
√
5−2
√
2

2
√
5−3
√
2

(e)
1√

3+
√
5+
√
7

(f)
1

3√2−1

5. Wykonaj dziaªania:

(a) 4
√
50− 8

√
18−

√
2

(b) 2
√
18 + 3

√
8 + 3

√
32−

√
50

(c) 2
√
20−

√
45 + 3

√
18 +

√
72−

√
80

(d)
√
24− 3

√
40−

√
150 +

√
54−

√
1000

6. Wykonaj dziaªania:

(a) (
√
15−

√
10 +

√
6) ·
√
30

(b) (
√
3−
√
2) · (
√
3 +
√
2)

(c) (4
√
8− 3

√
54 + 3

√
32− 2

√
50) ·

√
2

(d) (7
√
35 + 5

√
21) · (7

√
5− 5

√
3)

7. Wykonaj mno»enie:

(a) (2a2b3c4) · (−5ab2c2)
(b) (−3x3y2z)4 · (−5x2yz3)3

(c) (3x3 − 2y3) · (5x2y2)
(d) (2x2 − 3xy + 5y2) · (−2x3y2)
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(e) (2y2 − 5y + 1) · (3y2 − y + 2)

(f) (2a2 − ab+ b2)

(g) (a+ b) · (1− a) · (1 + a+ a2 + a3 + a4)

(h) (3x+ 2y)2·(4x− 5y)2

8. Rozªó» na czynniki:

(a) 3ny − 9ly

(b) b3 − b2

(c) 5a4b4 − 25a2b3

(d) 17m4b6 − 51m2b8

(e) p2 · (x+ a)− q2 · (x+ a)

(f) 12(x+ y) · (2x− 3y)− 18(x+ y) · (x− y)
(g) xy + yz + x+ z

(h) ax2 − bx2 + bx− ax+ a− b

9. Rozªó» na czynniki:

(a) x(x2 − 1)− (x− 1)

(b) 3(x+ 2)2 − x− 2

(c) x3 + x2 + x+ 1

(d) x3 − x2 + x− 1

(e) x3 + 3x2 − x− 3

(f) 4x3 + 12x2 − x− 3

(g) 1 + 6a+ 9a2

(h) x2 − (a− b)x− ab
(i) (x2 + y2)ab+ xy(a2 + b2)

(j) a2 − b2 + 2bc− c2

(k) (a+ b)6 − (a− b)6

(l) a2(x− y)− 2ab(y − x)− b2(y − x)
(m) a2(b− c) + b2(c− a) + c2(a− b)
(n) (x3 − x+ 1)2 − (x3 − x2 + 1)2

10. * Rozªó» na czynniki:

(a) bc(b+ c) + ca(c− a)− ab(a+ b)

(b) a2b2(b− a) + b2c2(c− b) + c2a2(a− c)
(c) x4 + y4 + z4 − 2x2y2 − 2x2z2 − 2y2z2
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